
 

He is tall and thin. He isn’t 

muscular. He has got short 

hair. He has got glasses. 

  

 

  

He is young, tall and very 

muscular. He has got short 

ginger hair. 

  

 

  

She is medium height and slim. 

She has got blond hair. She is 

pretty. 

  

 

  

He is tall and slim. He is old. He 

has got a long white beard. He 

has got white hair. 

  

 

  

They are short and thin. They 

are young and pretty. They 

have got dark hair. 

  

 

  

He is short and old. He has got 

a white beard and a white 

moustache and he his bald. He 

has got sunglasses. 

  

 

  

She is short and thin. She is 

pretty. She has got dark hair. 
  

 

  

He is tall and very fat. He has 

got ginger hair.  
  

 

  

 

Match the description to the picture: 


